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The figures in the margin indicate full marks
for the questions

1. Answer the foliowing questions (any ten) :
1x10=10
@ 2PPTES e fordl (R (e W)

(a) What is social indifference curve?

A Facers @ 2

(b) Define property rights.
e IR ARl e |

(c) What is monopoly power?
GeoToan Fed M 2
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(2)

(d) What is product differentiation?
TNAN fRcemaad I [ qum 2

(e) Define saddle point.
ofeme R ket ot |

(/)  What is payoff matrix?
gfome (e 9

(99 In what type of market we get
asymmetric information?

CFF FR IGRS RS ool (7RI oA
T 2

(h) Give an example of positive externality.

ﬁﬁWWW‘Tﬁml

() What is first-degree
discrimination?

A MR 71 Resw e & e o

price

() What is the basic difference between
oligopoly and duopoly?

KEC O G S R T ——
My 135
(k) What is shutdown point?

oo i % 9
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(3)

() Define cartels.

TP A e |

(m) What is exclusivity?
FRFRa Fforeet o qum 2

(n) Write one difference between private
goods and public goods.

TReore T WE SR GA9 TGS GOl A
forarn |

(0) State Bertrand’s model of oligopoly.
FCGIT THRCFOR ITT TG I 41|

2. Answer the following questions (any five) :
' 2x5=10

o eppTE s forar (R e #fovt)

(a) Define Pareto efficiency.

IS TR RS Tl |

(b) Write two features of public goods.
el T3 o1 CAME T |

(c) How does concentration ratio determine
degree of monopoly power?

B SPTS RO TEd e T
@ e F?
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(4)

(d) What is ‘two-person zero-sum’ game?
oy p0-cameR’ oo 2

(e) What is meant by signaling in
a market?

TERR e A & @

() Distinguish between production
efficiency and exchange efficiency.

T TSl WE R TR Wee A1
o

(g9 What are minimax and maximin
strategies?

e e R e 2
(h) What is third—degree price
discrimination?

$oE TR 71 Reenedd 9

3. Answer the following questions (any four) :

5x4=20
oo 2spied Ted fordr (R caeen wifso)

(a) Explain how efficiency can be achieved

in exchange through Edgeworth box
diagram.

qweRely gy oug 7@l R el (@egaed
AR 1], A T4 |
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(b)

(c)

(d)

(9)

(5)

Briefly explain the causes of market
failure.

5 REeTER FRPIE BT A 341 |

Explain the concept of excess capacity
under monopolistic competition.
GTRFR TS TR SfORE I
YIREICH! I M

When is price discrimination possible
and profitable? Explain.

wq ReoeRd (IR e AT AT K
T 1 | '

Explain the concept of Prisoner’s

Dilemma.

SRR TR Qe T

n perceived and

Distinguish betwee
d with the help

proportionate deman
of a diagram.

fag @Al SRR I e TR
Yrenee! A 4T

Explain how the growth of monopoly

power carl lead to market failure.
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(6)

(h) Do you think monopolist always
earns  supernormal profit?  Justify
your answer,

GO0 IS TS T wHelds are
S TR ? (SN B9 I ot |

4. Answer the following questions (any four) :

| 10x4=40
O] PTIRT Ted fordl (R et vkt

(@) What is production-possibility frontier
(PPF)? How can resources be allocated
efficiently through PPF? State Pareto’s
third condition for optimality. 2+6+2=10

T sl @2 (P 1. @%.) 9 Sesime
RSl ([F TS T Reqd  @EwE

el IEI AR (o[BS VKZﬁT SIERICH
GO TECHT ol |

(b) State and explain Coase’s theorem.
What are the limitations of Coase’s

theorem? 6+4=10
IH'Y OGOl TS HF AT PN | G QAR
Siramerye & &9

(c) How can monopoly power be controlled
and regulated? Explain. 10
GeoBAl IR *S @y Mg o ARkfte
3RI AR 7 A A0
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(7))

(d) Explain how prices and output can
be determined under monopolistic
competition in the short run and

long run.
GFITR THS & HF TeoAMA ZHTAS SIE
DI @S o IR AR, IO A0

10

(e) Explain diagrammatically Cournot’s
model of duopoly equilibrium.

0T TP TR ST e <

10

() Write two applications of game theory.
Explain the method of solving
a two-persorn zero-sum game. What are
the limitations of game theory?  2+6+2= 10

e wgq T Al B @b R T
mmmmmwmaﬁﬁﬁﬁ,w
WImWWﬁmWWW|

(99 What is information asymmetry? How
does information asymmetry affect
business? Give two examples of

markets where information asymmetry
prevails. 2+6+2=10

Wﬂﬁ@ﬁs?wmﬁ@ﬁw
Wmcm?@wwww
Fe1ad T fra |
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(h)

¥

0)

(8)

ain why there is no supply curve

opoly. Explain the case

international  price
5+5=10

Expl
under mon
of dumping in
discrimination.

oy SRS AR (A R o A
e | e e 7 R

CHTS TIPS AIFAICH! I A

Describe how a monopolist will
discriminate the price in the markets
with different elasticities of demand
and attain equilibrium. 10

w51 fom vifdw RfsgrRme! 41 o Kol
GICEHF IWA© (AR S S =,
SCAS 4 |

Compare and contrast Bertrand
and Stackelberg’s equilibrium under
oligopoly. - 10
FERCFOR IGRC IAGS WF  (BFer]
SELIBIE RS ORI 12y Y& |

* kK
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